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in (add, plus) —# (sum)
% (subtract) —# (difference)

# (multiply, times) —#3 (product)
B (divide) =7 (quotient)

The sum of the numbers z, 3x — y and 2y + 4 is subtracted from 15. In terms
of x andy, what is the result?
(A) 11 —4x -3y
B)11 -4x-y
(C) 11 +2x—3y
D)19—-4x—y
(E) 19 +2x -3y

“A is subtracted from B” X—® WFKIER RN B 1% A. EAES, M 15
2 = (sum) , B EAMELEH EFHESE B.

[Z] If 13 is added to 2 more than one-half of a certain number, the result is 37.
What is the original number?
(A) 24
(B) 40
(C) 44
(D) 61
(E) 80

“add” 1 “add to” #EMEMER, {8 add UM E/EEAE, T add to £
EEHREAN TS . i “1 add 2 minus 37 ®#s “1+2-3", 1 “1 is added to 2

minus 37 FR “1+Q-3)" . Bk, AEH13+(F+2)=37=>x=44, #C,

2] If a number z is increased by 2 and the result is squared, the final value will
be 49. Which of the following could be the value of z?

H6



(A)-9
(B) -7
©-5
(D)-3
(E) -1

“A is increased/decreased by B” & A ¥in/W>T B, BA—ABHE5ZRE
fIZRIE R “A is increased/decreased to B” A #in/w/>8 B, EAFKIEBEX 5.

“A is squared” 2¥ A FHKER, FMHIRILA “square A”, “the square of A”
st B HFTERANR (+2)° =49, BN, Wz+2=TH-7, #Hi&A.

If 8 + zis 4 more than 16, what is the value of 2x?

“A more/less than B” R/t B £/ A, 8132 8+z=16+4, =12, N
2x=24.

{] If multiplying & by 7 gives the same result as squaring #, which of the
following must be true?
(A)7+k
B) K +k=7
(C)K*+Tk=1
(D) 7k=1
(E) Tk=k*

“multiply A by B” %#7=f] B bl A, H—FEHHRIER “A is multiplied by
B” . &M, WWHEEMB 7 R LET LFT, BOEFE E,

[43)#1]
1. If 5 times ¢is decreased by 8, which of the following represents the result?
(A) 8—5¢
(B)5t—8
(C)5(-98)
(D)5(8~-1)
(E)8(t-5)

2. If 6 times jis 1 more than the square of % where £ is an integer, what is the
smallest possible value of ;?
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SATEE B A% ilhs T A

(A)—5
B)-+
(C)0
D) &

(E) It cannot be determined form the information given.

A number is added to 9 less than the number. If the result is 181, what is the
number?

The product of 3, 5, 7 is equal to one-half the sum of 20 and x. What is the
values of z?

. By Saturday afternoon, 375 tickets had been sold for a Saturday evening

performance at a theater with a capacity of 500 seats. After those 375 tickets
were sold, half the members of a group of 210 people each purchased a ticket.
If no other tickets were sold prior to the performance, how many tickets
remained unsold at the time of the performance?

. Prime numbers £ and 7 are each greater than 2, and they differ by 4. If there is

no prime number between £ and 7, what is the least possible value of £ +n?

[ 7 A4mA]

1. B

2. D. HEETE 6= +1> 10k HEE), H2 k=0, =15/, W =16
3.95. x+ (x—9)=181=x=95

4. 190. 20;" —3X5X7=105=>20+x=210=x =190

5. 20, HE R —IERERRES, S TRXMEKKEH R B IKK BN &

38

W B B AR SR AN B s 2 Rk, XL T R E I, IRFEA
DERIRE]. E28EHRER 375 +210X1/2 =480, FrUIB T 20 kERAEELH.
18. “differ by” RHZEZZ P PHIER, FARABSEZHBEUIMN KRR, B
[k—n[ =4, '

BAE k+n KERD, W AR 2 MEHERTRED. 2L HNSEBAIES, 4
k=38, n=7 HREHER S FEEEE: M k=5, n=9 REEW: %
k=701, n=11, 2F%K, HPEEEHNORLE, & k+» OBRMEHR 18, iXFh
B, A IR PN R RN T2

Prime number: J#(, WA EH.



BV BEAEEH

¥ (odd) : TREWE 2 BRRIIEE
1B%k (even) : HEHE 2 BEBRIIEERL

BHEHAE: odd + odd = even odd X odd = odd
odd *+ even = odd odd X even = even
even * even = even even X even = even

[Z] If aand b are positive odd integers, which of the following must be a positive
odd integer?
(A)a+b
B)a-b
(C)2a+b
(D)2a-b

BB HEAHER AL B. E. fiEEH#E C. D WEGRA AT, HEET
R DREAERE, HAH CRAELERAE. FHER, Za=b00, a-b=0, M
RATHE 0 LR BH-

E] If z, y, z are integers, which of the following is NOT a possible value for 2.z +
4y + 627
(A)4
(B) 8
©) 12
(D) 26
(E) 29

HA BB EETA, Lk 5, y, 2 EREMMEEE, BN ESRRFRR—E
R, TEAMEHREOMEREL, P 2+ 4y + 62 AT RLRRMEH. BHAH
E MR E%M4 QERREERN NOT) .

[4%4>)4])
1. The sum of which of the following combinations of number will be odd?

(A) One even and two odd numbers
(B) Two even numbers
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(C) Three even numbers
(D) Three odd numbers
(E) Four odd numbers

2. If z and y are integers and xy + 27 is odd, which of the following statements
must be true? ’
I. s odd.
I1. y is odd.
III. z+ y is odd.
(A) I only
(B) I1I only
(C) Iand II only
(D) I and III only
(E) IT and IIT only

3. If z1is an even integer, how many even integers are there between xr + 3 and r +
13, inclusive?

1,2,5,4,5,6,7
4. How many pairs of different numbers can be chosen from the list above so that
the sum of the two numbers is even? (Note: The pair 1, 3 is the same as the
pair 3, 1)

[ )R %]
1. D
2. Do zy+ X =x(y +x), AEANEEHRLATE, RER 2 My + s HNHLAE
RAHABEARIE 2y + 2 A& BEED.
3. 5. “inclusive” HAMERLZ “B% z+3, 2+ 13”7. HT even £ even = even, #
HER W 3 13 2 @K@ 4, 6,8, 10, 12 F1 x A N#iiT . A FELHR x KT
4. 9. odd + odd = even, even * even =even, M 1 FFAHEE, A AEEHETE -
3
4 |5
1 5,2{ ,3{ ,4{6,5{7
6 |7

7
HA 9 X

H 10



B=Y BEMAET

BERB (dividend) + B¥% (divisor) = H (quotient) + K% (remainder) +— B
(divisor)

BEF (factor) FIfE# (multiple) : BRWEEE »n BRU m, SRETREAES, B
LAV m 2 n WEF, 22 m G,

FE¥ (prime) : 7EXT 1 FEEH D, HEEE 1 XA EBRE.

&% (composite) : 7EXT 1 KEBHF, BT 1 MXANBALS, EREH AL ERE
BB HIH

EHE T4 & (prime factorization) : B— M/ R E AR,

Trains A, B and C passed through a station at different speeds. Train A’'s
speed was 3 times Train B’s speed, and Train C’'s speed was twice Train A’s.
What was Train C’s speed, in miles per hour, if Train B’s speed was 7 miles
per hour?

(A) 14
(B) 21
(C) 28
(D) 35
(E)42

WEAEE 2 AR EEOE AL, “ntimes A” ¥R A K nf%;  “twice A”
RRAM2ME. AEEANEEREZBK 3%, AKEER2]; CHEERAK2
5, C WEER 42, i& E. XFBEELLFEMARERE, 28+, A =3B,

C=2A, X% B=7, WRKRATLIFH C=42.

When the positive integer £ is divided by 7, the remainder is 6. What is the
remainder when £ + 2 is divided by 7?
(A)0
(B)1
©2
(D)3
(E) 4

XA E A SAT R P H0% . R A AOMERAME, EEAE &
ke EARABIRT . AP RETERE k= 13 RN, W A+2=15, % 7HREREH 1,
ik B.
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